RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving Tohono O'odham Department of Health and Human Services 2007 Community Health Assessment)

RESOLUTION NO. 07-267

1	WHEREAS,	the Department of Health and Human Services is responsible for promoting and
2		protecting the health of the Nation's members; and
3	WHEREAS,	the Department of Health and Human Services conducted a Community Health
4		Assessment in 2002 to assess and establish a baseline regarding the health status of
5		adult tribal members; and
6	WHEREAS.	the information collected from the 2002 Community Health Assessment has been used
7	(in a confidential and internal manner for health planning and program development
8		purposes, including securing grants funds for ongoing and new program services; and
9	WHEREAS,	the Department of Health and Human Services proposes to conduct a follow-up
10		assessment of health status, known as the 2007 Community Health Assessment, to
11		assesshealthstatus, identifyhealthtrendsandmeasurechangeoverthepastfive-year andmeasurechangeoverthepastfive-year andmeasurechange over the pastfive-year and the pastfive-year andmeasurechange over the pastfive-yea
12		period; and
13	WHEREAS,	the 2007 Community Health Assessment is designed to provide information on the
14		following health issues among adult tribal members who reside on the reservation;
15		• Demographics
16		• Veteran's Status
17		Health Status
18		Health-Related Quality of Life
19		Health Care Access and Utilization
20		• Environmental Factors
21		Exercise and Nutrition
22		• Excess Sun Exposure
23		• Tobacco Use
24		Alcohol Consumption and Drug Use
25		• Asthma
26		• Diabetes
27		• Oral Health
28		• Immunization
29		• Women's Health
30		• Arthritis Burden
31		Cardiovascular Disease
32		Prostate Cancer Screening
33		Colorectal Cancer Screening
34		• Family Planning
35		• Minor Children's Health
36		• Disability

(Approving Tohono O'odham Department of Health and Human Services 2007 Community Health Assessment) Page 2 of 3 1 **HIV/AIDS** 2 **Firearms Behavioral Health** 3 4 Other Issues: and 5 WHEREAS, the 2007 Community Health Assessment will be managed by the Department of Health and Human Services to ensure that all information collected from a random sample 6 7 of adult tribal members by trained employees will be maintained confidential; and 8 WHEREAS, questionnaires will be destroyed once data is entered into the database, all aggregate 9 data will be anonymous and all data will be stored in a locked file cabinet; and 10 WHEREAS, the data collected by the 2007 Community Health Assessment will be the confidential. 11 intellectual property of the Nation for the purpose of planning, development and 12 evaluation by the Department of Health and Human Services. 13 NOW, THEREFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that it hereby 14 approves: 15 1. The Tohono O'odham Department of Health and Human Services to conduct the 16 2007 Community Health Assessment. 17 2. All information collected will not be released in any form without an approved 18 resolution. 3. All confidential data will be maintained by TODHHS (the Nation's Public Health 19 20 Authority). 21 BE IT FINALLY RESOLVED that the Tohono O'odham Nation's officials to wit: the Chairperson and 22 any designated official are hereby authorized to negotiate and execute the 2007 Community Health Assessment provided, however, that any amendment affecting the 23 24 understanding shall be submitted for further approval by the Tohono O'odham 25 Legislative Council. 26 The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 10TH. Day 27 of MAY, 2007 at a meeting at which a quorum was present with a vote of 2,134.7 FOR; -0- AGAINST; 28 306.1NOT VOTING; and [03] ABSENT, pursuant to the powers vested in the Council by Section 1 (c)(2) 29 of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham 30 Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs 31 (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). 32 33 TOHONO O'ODHAM LEGISLATIVE COUNCIL 34 35 Verlon M. Jose, Legislative Chairman 36 37 38 16 day of 11 lay , 2007 39

RESOLUTION NO. 07-267

-	(Approving Tohono O'odham Department of Health and Human Services 2007 Community Health Assessment) Page 3 of 3 ATTEST:
1 2 3 4 5 6	Page 3 of 3 ATTEST: Shift Suppose the secretary of the secretary and the secretary are secretary as a secretary and the secretary are secretary as a secretary and the secretary are secretary as a secretary and secretary are secretary as a secretary and secretary are secretary as a secretary as a secretary are secretary as a secretary are secretary as a secretary are secretary as a secretary and a secretary are secretary as a secretary are secretary as a secretary as a secretary are secretary as a secretary as a secretary and a secretary are secretary as a secretary as a secretary and a secretary are secretary as a secretary and a secretary are secretary as a secretary as a secretary and a secretary are secretary as a secretary and a secretary are secretary as a secretary as a secretary as a secretary as a s
1 2 3 4 5 6	ATTEST: Shim Softy Lucille Lopez, Acting Legislative Secretary
2 3 4 5 6	Summe Softy Lucille Lopez, Acting Legislative Secretary
2 3 4 5 6	Summe Softy Lucille Lopez, Acting Legislative Secretary
3 4 5 6	
4 5 6	
5 6	
6	
- 11	10 day of, 2007.
7	
- "	11
8	Ÿ
	Said Resolution was submitted for approval to the office of the Chairwoman of the Tohono
10	O'Odham Nation on the 16 day of May, 2007 at 3:00 o'clock,
11	ho .M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become
12	effective upon her approval or upon her failure to either approve or disapprove it within 48 hours
	of submittal.
14	or submittees.
i i	TOTONO CLODITAN I FOICI ATIME COLINOIS
15	TOHONO O'ODHAM LEGISLATIVE COUNCIL
16	
17	$O(10^{\circ})$
18	
19	Verlon M. Jose, Legislative Chairman
20	
21	
22	
23	
24	on the 16 day of Muy, 2007 [] DISAPPROVED at 5.35 o'clock, 2.M. Muulmullulle
25	(V) At 1 ROVED Of the 10 day of 100
- 1	L I DICADDOCUED
26	[] DISAPPROVED at $\frac{3}{3}$ o'clock, $\frac{1}{3}$.M.
27	
28	MANIALA KARAN MAISLAVE
29	/ Whater perocession
30	vivian juan-saugders, chairwoman
31	TOHONO O'ODHAM NATION
32	
33	
34	
35	Returned to the Legislative Secretary on the day of
36	
37	Muy , 2007, at 8:47 o'clock, A.M.
38	, 2007, at <u>8</u>
39	Same Like,
40	Lucille Lopez, Acting Legislative Secretary
41	Lucille Lopez, Acting Legislative Secretary
42	
43	
44	
45	
46	
Į	

ACTION: APPROVING TOHONO O'ODHAM DEPARTMENT OF HEALTH AND HUMAN SERVICES 2007 COMMUNITY

HEALTH ASSESSMENT

MOVED: COUNCILWOMAN EVELYN JUAN MANUEL SECOND: COUNCILWOMAN PHYLLIS JUAN

DATE: MAY 10, 2007

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	155.40	x			
310.8	(Vernon J. Smith) 2. FRANCES G. ANTONE (Lucilda J. Valenzuela (Norris))	155.40	X			
CHUKUT KUK	1. ETHEL GARCIA	129.35	x			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	x			
GU ACHI	1. TIMOTHY L. JOAQUIN	110.80			x	
221.6	(Jonas Robles) 2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80			X	
GU VO	1. RAYMOND VICTOR	96.55	x			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			
HICKIWAN	1. SHIRLEY SANTOS-MOLINA	83.70	x			
167.4	2. SANDRA ORTEGA	83.70	х			х
PISINEMO	1. BARBARA SALVICIO	85.90	x			х
171.8	2. GERALD FAYUANT ()	85.90	х			
SAN LUCY	1. LORRAINE EILER	84.50	x			
169.0	2. GLORIA RAMIREZ	84.50			х	
SAN XAVIER	1. FELICIA NUÑEZ	96.90	x			
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	х			
SCHUK TOAK	1. FRANCES B. CONDE**	73.45	x			
146.9	2. PHYLLIS JUAN	73.45	х			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50	x			
421.0	2.EVELYN B. JUAN MANUEL (Kimberly Listo)	210.50	х			
SIF OIDAK	1. WAVALENE ROMERO	93.35	X			
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Wilson)	93.35	X			X
	TOTAL	2,440.80	2,134.7	-0-	306.1	[03]